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( Simple Past tense ) eslw 422 J8 Ol -
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« She moved to New York last month e S90 98 0y 0AS ol gl
. They didn’ t buy a new TV Iast week M30)30 3932 uyysbdumﬁmlg..l

Where did you go on vacatlon last? it S 62838 Jlu & Uass

@ year )

e The old man was s:ck He had to go to FSS iy 5929120 9l 592 Jaspo 304,

the doctor .39y
h Exercise 2: Jtlod doa i1y (LS OMos

1. Last year I couldn’t speak English well, but now I can.
2. We invited them to our party but they decided not to come.
3. She passed her examination because she studied very hard.

4. Charles entered the hall, looked around, took off his coat and put it on a chair.

>. They weren't able to come because they were so busy.

~ 6. Nobody knew about end of his life.
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Basic Macro structures :Jql Jas =

Past Continuous Tense (g,loxwl azdi8 ols; - f

Jcld + (was/were) + Gerund

Gerund =I5 ing =3

e Iwas working on the project when you 0J9)2 (59) 42 LIS (30 Su5j (yals lad idg
telephoned.

P35 5015

e il B gl el S

— T e e e —— e ————— i e —

¥ 32313 50 Pl il (515 62 Laud s gl idg

-

e What were you doing when she arrived?

e

o He was not (wasn't) speaking. 3945 Y35 Cuuo Jo o gl

h EXxercise:

1. They were not (Weren't) speaking.

2. They weren’t watching the film when you arrived.



Basic Macro structures :pgs Las ®
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Negative load of Too

S Mos 15100 uﬁ-w uz:’u’“)lf

bl @ylis b ogail 4 bssye ulSSl gie axllan pl8i 3 (100) AalSTh (S j2aS Ylaza

Too + adjective + infinitive Too difficult to follow : ju
(tO bJ.b..m.n)

ey INANIVE  xe ($gd ygods ilos )0 100 jgias 00s)S3 lanl )5 45 yeb jlan

i SETECT R PERCHE SR IONT- . P NRRVX Sy PO WY S PO toos IR ( SR PNEL )
.L:_:La.a C8) J_:.) (_gl.m‘_JL.n

Most diets are too difficult to follow.
1> swlsl L:boT:.g.cb 0 05 Adiluug JSWwo ja8 ] oolde Gldmo)) il g )yluuw
t.:.:)5..\a=1.» L593 ‘_JLn.b Lole I) C:J}L.o.} o._g'tOO Lg‘)lo L..J\)Ln_‘.\ d.o.b-):i ‘_)J..m 0‘5) 9 LS“D'I) le)..a s A Sy
doles dosyi (.. &S ..y yl..l)

Virus Is too weak to cause any serious discomfort.
S 532 JSulho aud Cacly 5195 o5 68 cruwl iumis ;08 T ugg ol
The patient felt almost too weak to walk.

398 0] Cuuslgi 5as 65 3)S 0 Lanis Lubwsl a8 T low

:oéj‘sé e;t&& ug,ui D
sl slgwb L) ogs clacilgs 9 09900 Aoy (398 oSl ollaoly Jod sla e

complications,

3. The demands of this situation dare too much to handle
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Question: The technique which has attracted the attention

scientists Is referred 0 aS .ccecececcccners
b. creation of hybridomas

d. DNA synthesis

a. cell fusion
c. gene splicing

The technique which has attracted the But of all these marvels, it is gene
attention of scientists is referred to as | splicing that scientists consider the
gene splicing most exciting.

~ Paraphrase Technique: change sentence structures and word order (type 2)
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Researchers surveyed about 550 female family planning providers and asked whether
they used contraception, and what type they used. Study authors then compared
these results with a 2006 to 20120 survey of U.S. women who were about the same
age.

Out of the 335 family planning providers who used contraception, 42 percent
used a long acting-Method of birth control, including IUDs and implants, whereas

6 percent of women in the general population used one of these methods.
«We are theoretically, the most educated group of people in this arena,’ said

the study director. “And given that background .. we take the most effective
methods” of birth control.

The researchers found that 40 percent of family planning providers used IUDS

and 2 percent used implants, which are inserted in the arm and prevent pregnancy
by releasing certain hormones. Just 12 percent of family providers used birth control pills:
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shown nearly 1800 years ago by Galen ,who proved by experiments that
destruction of a nerve paralyzed the muscle it supplied .He thought that
the muscles were put to work by a sf)irit contained i1n the nervous system,
which passed from the nerves into the muscles concerned .We now know

that when a nerve is stimulated ,an electrical wave travels along 1t and causes
the release of a chemical at the nerve endings .It is this chemical which
stimulates muscular contraction .We also know that a normal muscle ,even
when resting ,is in a state of slight tension ,a local reflex action influenced
by higher centers in the brain .To allow movement to occur ,this tension

must be increased in groups of muscles and diminished in others.

1- Galen showed ............. b aniiind

a. in 1800 that the nerves were intricately detached

b. muscle paralysis can be due to its nerve destruction

c. the relationship between nerves and muscles is very simple

d. that 1800 years ago the nerves were unusually separated
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